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PHY101:Online Quiz # 1 Physics (PHY101)

Question # 1 of 10 { Start time: 01:35:26 AM, 27 May 2021 )
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Quiz Start Time: 01:35 AM. 27 May 20:

Total Marks:

When number of bodies are such that they can exert force upon one ancther and no external agency exerts a force on them, they are

said to form:
2
W
Select the correct option (?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

An inertial frame of reference k
<

O
° \J\\/

Y

An isolated systerrr%\)
L]

\

Mon-inertial frame of reference

Mon isclated system
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Question # 2 of 10 { Start time: 01:35:43 AM. 27 May 2021 )

The geal of all scientific inquiry {or scientific method) is:

@
%
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O

Select the cormrect option \?\ —

to make everyone rich and happy o \
WV

O

world dominion

predicting natural events based on known patterns

world peace
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Question # 3 of 10 { Start time: 01:36:01 AM. 27 May 2021 )

Per-second refers to the dimensions of physical quantity:

A

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

5(\
Select the cormrect option @

Angular velocity ,\\/
. &

Angular momentum

O

Angular displacement ) __\-\___

Angular acceleration
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Question # 4 of 10 { Start time: 01:36:14 AM. 27 May 2021 )
The unit kg*m2fs can be used for. \

§§\®
W~

AN
Select the comrect option . A

rotational inertia O) \\\7

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

O

rotational kinetic energy

O

angular momentum K\

torgue
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Question # 5 of 10 { Start time: 01:36:25 AM, 27 May 2021) N
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Select the comect option Q) \J\\/ E_\

near the surface of Earth \g\)

- \

near the center of Earth \‘ 1""“‘--._

The center of mass of Earth's atmosphere is:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

a little less than halfways between Earth's surface and the outer boundary of the atmosphere

near the outer boundary of the atmosphere
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Question # 6 of 10 { Start time: 01:36:38 AM, 27 May 2021 )

Work may be done by

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option

only living organisms

only non-living objects

O

both living organisms and non-living objects

only vehicles
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Question # 7 of 10 ( Start time: 01:36:51 AM. 27 May 2021 ) Total Me

To determine if a rigid body is in equilibrium the vector sum of the gravitational forces acting on the particles of the body can be

replaced by a single force acting at: \

&

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option \A

the center of gravity @ /\/ -
AN
. &

a point on the boundary

@)

\\

the geometrical center \

the center of mass
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Question # & of 10 ( Start time: 01:37:05 AM. 27 May 2021

Whenewver an object strikes a stationary object of equal mass:

>

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

N
2,
O(‘
, N
; _ A
! Select the cormrect option
the first object must stop @ J\\/
O <&
the two objects cannot stick together
the collision must be elastic \

none of these
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Question # 9 of 10 ( Start time: 01:37:21 AM., 27 May 2021 ) Total Marks
A glass of water is placed on a sheet of paper. Quickly drag the sheet of paper from under the glass of water without spilling the wate
is due to:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Mewton's third law of motion

O » 4

acceleration %\\)
O .

N
Select the comrect option (5@%
\

lack of friction between paper and glass \ T

inertia
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Question # 10 of 10 ( Start time: 01:37:37 AM. 27 May 2021

The dimension of Joule is:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the cormrect option \
ML2T-2]

ML2T-1]
O

[ML2T-3]
O

[ML1T-2]

2"d 3ccount

XX LRXAERRXLXRXDAERYRADRDRLAELAEALYADALALALRYRAXALXYXLXALARXLYARXRLDLARXYRLRERRDXALXYILADALRYRXDXILXALALLALXLYRADLLRYRLALLRYRLLXILADLLRYXDILLALELIALXLXAXTLXXIXEIRXXXIXSRNR

TRV R VR VIR VI TR VIV IR VIV TR VIOV T VIR VIR IOV TRV IV I IV TR IV I VIV I VI VIR VIS VI VI VI VI Y UV T T VT I VI ¥ I VI TV TV TV T VI VI ¥ IV TV IV T ¥ T Y T VIV TV Y T VU VIV Y T VUV T VY T VTV T VY R VY e Yy




PAXRX XAV AERE A AR AR AR AR ALY LYY
VTV TV eV VeV Ve Ve VeV Vo Ve Ve Vo Ve Y VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Vs Ve Ve Vo Vo Ve Yo o

PHY101:0Online Quiz # 1 Physics (PHY101)

Question # 1 of 10 { Start ime: 01:38:37 AM. 27 May 2021 )

The slope of a velocity - time the graph at any point may be identified with:

/,x
A Q)

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the cormrect option
instantanecus velocit \\

v

. hd .
instantaneous acceleration

O

- T —
average acceleration \

instantaneous acceleration
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Question # 2 of 10 ( Start time: 01:38:52 AM, 27 May 2021 ) Total Ma

Aliwants to it a mass of 7.5 kg with constant velocity by a rope that passes through a frictionless pulley which is attached to the
ceiling of room. Calculate the tension in the rope by neglecting the mass of the rope.

A N
Select the correct oplion ®

075N \{)
O \\\@

75Kg oA ‘ '
o " & \&
N

75Kg

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

/BN
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Question # 3 of 10 { Start time: 01:39:07 AM. 27 May 2021 )

If the magnitude of force applied is increased, the work done will

[\
> NJ
Select the cormrect option %&\
become zero O
A @ %

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

O

—A

be decreased @V

O

have no change \

be increased
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Question # 4 of 10 ( Start time: 01:39:17 AM. 27 May 2021 )
A couple produces:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

S S S S ) S S S S ) S S S S S S S S S S S S Sy S ) wy wy wy wwy wy wwy wwy wwy ww ww ww ww ww ww w-w w-
i

Select the comrect option \\\\
Mo motion =

= v

Linear and rotational motion \
AW |
Purely rotational motion \

Furely linear motion
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PHY101:Online Quiz # 1 Physics (PHY101) Quiz Start Time: 01:38

Question # 5 of 10 { Start time: 01:39:29 AM, 27 May 2021 )
Which of the following statements are TRUE of sound waves? |dentify wat apply.

?
W0

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option A

r Y

A sound wave is a transverse wa\rzw) \’4

O A
—

To hear the sound of a tuning fork, the tines of the fork must move air from the fgrk to ghe's ear

O

A sound wave is @ mechanical wave \

Sound can travel through a vacuum
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Question # 6 of 10 ( Start time: 01:39:41 AM. 27 May 2021) Total

Add two vectors of length 4 m & 5 m but their onentation is not known. The length after addition of these two vectors will be:
@
2

Select the correct option \A\@

9m
@)

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

L

L
D

Less than 1m

0 \

between S mand & \ —

between 9mand Tm
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Question # 7 of 10 { Start time: 01:35:54 AM. 27 May 2021

L. No. 1: The application/s of dimensional analysis isfare:

i.To convert a physical quantity from one system of units to another.

i. To check the dimensional correctness of a given equation.

ii.Establish a relationship between different physical quantities in an equation.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option w
O

i & iii only R\
o K\

ii & iii only %\,

O
i onl T
O Y \

i, i & il
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Question # 8 of 10 ( Start time: 01:40:07 AM. 27 May 2021 ) To

If the distance between all pairs of particles of the body do not change by applying a force then the body is said to be

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option @

flezable

SO A
o) @’\\/ \

rigid

large
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Quiz

Question # 9 of 10 { Start time: 01:40:18 AM. 27 May 2021 )

People try to keep the..._. over their feet, in order to feel stable.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

O
3 Select the correct option \\\© O
i mass N\
O v
&

centre of gravity

weight

centre of mass
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Question # 10 of 10 ( Start time: 01:40:29 AM, 27 May 2021 )

Which statement is not true for acceleration?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the cormrect option

riding your bike straight down the street at a constant speed

riding your bike faster when you head down a hill A

O
oV

slowing your bike ride so you can make it up a hill ‘V

stopping your bike at an intersection

O

3rd account
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Question # 1 of 10 { Start time: 01:43:14 AM. 27 May 2021 )

A force of 100 N acts upon a body for five seconds. VWhat will be the change in momentum®?

AN
Select the cormrect option ,\‘®®

EO NS \\ g%

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

O

>

A
500 NS O v

® X

200 N5

20 NS
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Question # 2 of 10 { Start time: 01:43:26 AM. 27 May 2021 )

| —

_...object returns to its original position if displaced slightly

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

N
Select the comrect option \\

O

unstable equilibrium \w
.

O

dynamic equilibrium

AW

rotational equilibrium \k

stable equilibrium
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PHY101:Online Quiz # 1 Physics (PHY101) Quiz Start Time: 0

Question # 3 of 10 ( Start time: 01:43:38 AM. 27 May 2021 )

For an cbject in equilibrium the net torque acting on it vanishes only if each torque is calculated about:

A
Select the correct option @g{d

the center of gravity A

© av K_\\

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

A
the same point A3

the center of mass \

the geometrical center
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Question # 4 of 10 { Start time: 01:43:50 AM. 27 May 2021 )

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

The scalar product of two vectors is maximum when they are:

A

2

1 N
! Select the correct option ‘N
Parallel QU %()

A (\

O

Anti-parallel @ v
N\

.

Perpendicular “‘\

MNull
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PHY101:Online Quiz # 1 Physics (PHY101) Quiz Start Time: 01:4:

Question # 5 of 10 ( Start time: 01:43:59 AM. 27 May 2021 )
Which of the fallowing statements are TRUE of sound waves? |dentify all that apply.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option \‘\\@ <

A sound wave s a mechanical wave ' \\\\

e .
v __

To hear the sound of a tuning fork, the tines of the fark must move air from the fofk to one's par

\\
Sound can travel through a vacuum \\

A sound wave is a transverse wave
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PHY101:Online Quiz # 1 Physics (PHY101) Quiz Start Tim

Question # 6 of 10 { Start time: 01:44:12 AM. 27 May 2021 )

The angular momentum vector of Earth about its rotation axis, due to its daily rotation, is directed:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

(
Select the correct option

QA
2
O

tangent to the equator toward the east @ O

O QS

north Q;i’%\/

* \

tangent to the equator toward the west N

south
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| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Swimming becomes possible because of:

Select the cormrect option

A

Third law of motion

J\“,)\,

o
W0

Law of torque

O

Second law of motion

N
N

First law of motion
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Question # 8 of 10 { Start time: 01:44:35 AM. 27 May 2021 )

the projectile path is known as its:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

©
S

Select the correct option »

time of action @f\(w
O Q)

° \
N

cune

trajectory
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PHY101:Online Quiz # 1 Physics (PHY101) Quiz Start Time: 01:43 AM. 27 May 2

Question # 9 of 10 ( Start time: 01:44:46 AM, 27 May 2021 ) Total Marl

Aliwants to lit a mass of 7.5 kg with constant velocity by a rope that passes through a frictionless pulley which is attached to the
ceiling of room. Calculate the tension in the rope by neglecting the mass of the rope.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

»
Select the correct option N

75 Kg Q)\O

o N\

75N ) ’ \-
o Q

075N N
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PHY101:Online Quiz # 1 Physics (PHY101) Quiz Start Time: 01:43 AM, 27 4
Question # 10 of 10 { Start time: 01:44:57 AM. 27 May 2021 ) Total

A man, with his arms at his sides, is spinning on a light frictionless turntable. When he extends his arms:

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

AN
@

Select the correct option o O )
his angular velocity remains the same A N

: )
asV

- . v 3 F
his angular velocity increases \ L

. . 8 . e T ——
his angular momentum remains the same \

his rotational inertia decreases
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